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Question 1- 20% of 450 + 80% of 150 +
125% of 1600 = ?

57 1- 450 FT 20% + 150 FT 80% + 1600
FT 125% = ? 22020

b) 2210
c) 1020
d) 3320
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Question 2- 40% of x is 1200. Find
150% of x?
757 2- X T 40% 1200 g1 X FT 150%

ST FITor? ()2500
(b)3500

(c)5500
(d)4500
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Question 3- Q% of Q is 49 then find
value of Q.
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Question 4- 75 gram is what

percent of 2kg?

IsT 4- 75 19 2 BT T ohan

IR

a)4.75%
0)3.75%
C)2.75%
d)0.75%
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Question 6- If 60% students in a school are
boys. If number of girls are 600 then find total

strength od school.

TsT 6- Tta Thet Tt H 60% BT A= 2| Tia

ASTRAT T G&aT 600 B, TT ThA sl A HEAT 713

S50 a) 1200
b) 1400
c) 1500

D 2000
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Question 7- A cricketer played 40
matches. In he century in 25

matches. How much percent of total
matches he has hit century?

b

5] 7- U Tohehed o 40 9 @ef| 37

25 H=1 H ST ST 3 FeT HAL

T Fohae I 9Tqeh ST 872

~
]

a)52.5%
0)55.5%
c)62.5%

d)75%
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Question 8- A batsman scores 120 runs in
which 8 boundary and 6 sixes are
iIncluded. What percent of total runs he
has scored by running

AT FaL 8- Teh doatars 120 T TATq1 g
ﬁnﬁﬁﬁsﬁﬂszﬁs@nﬁﬂgﬁ%n R

3G T AT T Toha AT Iiaera a91T 2872

a)20%
0)33.33%
c)40%
d)25%



{7 9ToT CTET / STET 2023

Question 9- Price of sugar
increased by 20%. How much
percent should a persOn reduce his
consumption so that his expenditure
will not increase?

T 9- AT sl hiHd H 20% 1 i
22| Tk <k &l ATAT Gad | b
STT9TT =1 FHT FIAT AR TR )FGH6
T | d27 %
0)20%
c)10%
d)15%




{7 9ToT CTET / STET 2023

Question 10- A number first increased

by 20 percent and then reduced by

10%. find overall percent increase or

decrease in that number?

77 10- TF Hee qacﬁ 20 giaera &t 3l
o)

ﬁv_(’lOA)OhH | 39 Huulg Tcg

ISR O’“"‘g q Eilgei crease/8% I

FH
c)10% increase/ 10% =t
E1p=

d)10% decrease/10% i
T
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Question 11- If radius of a circle is
increased by 10% then find percent
Increase in its area”?

527 11- < Tk 3 67 Froar 7 10% i

3l T ST H%‘ 3 ATRA | TTA9q

It AT ?

a)10%
b)20%
c)21%
d)15%
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Question 12- To pass an exam 35%
marks are required. A student scores

180 marks and fails by 30 marks. Find
maximum marks.

T 12- Tah LT 39T e o 10 35%

3R LT gl Teh 1 180 37eh ITH FLdT &

3T 30 SR | A0 BT ST 31'@%%

3 ST o : 2
6)600
c)400

d)300
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